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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Xotsiisenie | 853 3 7.8 (n 0:2 0.2 10C3 80 070 | 2 23 28 340 2 CPC | Kopenena rvika 320 3riano
- 884 I LE | 1 [ 0.3 0.3 10C3 81 0.70 | 3 20 28 250 2 CPC | Benxanua nepen 503 |marepianis
- 883 7 11.0 (n 0.3 0.3 10C3 41 0.80 | 13 18 200 2 CPE Beuxanns nepen 203 AicoBnoOpa
- 872 | 126 | (1} | 0.5 0.5 10C3 11 0.70 | 2 27 36 400 2 CPC | Beuxanns aepen 384 |kyBanns ne
- 829 | 1 | 100 | (1) | 04 0.4 10C3 84 | 0.80 | 1 26 28 440 2 | CPC | Beuxanus iepes 357 | Busmacno
- BI7 | 7 L1 | (1) | 0.5 0.5 10C3 101 | 030 | 2 25 36 210 2 CPC | Cocnosa rydka 210 -
- 859 | 6 1.6 | (1) | 03 0.3 10C3 81 0.7 | 2 23 32 340 2 CPC | Beuxanns aepen 210 -
- 824 13 0,7 (n 0.4 0.4 10C3 66 0.70 | 1 24 28 360 2 CPC | Beuxanns aepes 542 -
- 852 | 9 28 | M | 07 0.7 10Cs 81 090 | 2 23 32 420 2 CPC | Beuxanus aepes 279 .
- 841 1 L5 (1) 0.6 0.6 10C3 111 0,40 | 2 28 40 250 2 CPC | Beuxanns aepes 275 .
- 829 | 6 | 6.1 | () | 03 0.3 10C3 59 | 090 | 2 18 24 290 2 CPC | Beuxanna nepes 193 -




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Xorsiminenke | 829 | 8§ 0.8 - - . 121 030 | 3 24 36 140 2 €PC Cocnosa 1rvoka 374 3rinmo
_ - L 829 | 10 Lo | (1) 143 1.3 121 040 | 2 | 26 40 230 2 CPC Cocnona ryvoka 437 Marepiaiin

- 829 4 2.9 (1) | 0.9 39 0.70 _ . & 20 26 290 2 CPRC Kopenena 1yoxa 170° |niconnopsn

- | 829 5 3.5 (1 |07 66 090 | 2 19 24 320 2 CPC | Beuxanns nepen 136 lkveanng ne

_wnrc:.:. z z 0,8 = | 7.4 = - - o = - - = = = = BUABICHO
! 5

Aydenancnie | 667 8 2.2 (1) 0.1 0.1 10C3 60 0,70 | 24 26 360 2 CRE Beuxanns acpes | 190 -
= 667 13 0.4 (h (.2 0.2 10C3 91 0.70 | 28 36 440 2 CPC Beuxanns aepen 400 =
- 668 | 39 3.6 ay | a2 0.2 634511 35 0.80 1 14 | 14 180 2 CPC Benxanns aepen 360 -
- 673 9 1.9 (1) 0.3 0.3 10C3 N 111 0,70 | 2 28 36 430 2 CPC Beusanns nepes 377 -
- 720 15 0.8 (1} 0.5 0,5 10C3 131 0,50 | 2 28 40 310 2 CRC Kopenena 1yoka 312 -
- 721 6 8.8 (1) 0.7 0.7 10C3+b11 81 0.80 |1 26 34 440 2 CGRE Beuxanns nepen 466 -
. 721 7 3.3 (1 0.4 0.4 10C3 96 0706 | 2 26 36 400 2 CpC Beuxanus aepen 492 -
- 721 10 0 | - - - 10C3+BIT+OC 80 070 | 1 | 26 36 400 2 CPC | Bemxanns epen 133 -
- 721 11 0.9 (n 0.6 0.6 9C31JI 141 0.50 | 2 27 40 290 2 CPC Beuxans aepen 397 -
, -l s 3 24 [ () |05 | 05 [0Csmiuas| 76 | 070 | 1 25 | 28 380 2 | CPC | Beuxamns nepes | 374 <
Beworo: - = 1,0 - 3.5 3.5 = - - - - = - - - - = -
Hpumopenke | 364 2 193 (1) 0.9 0.9 10C3+/13+ bn 66 0.70 | 24 28 370 2 (&) Beuxanus aepen 190 -
- 378 ] 10.9 (1) 1.1 1l 9C31 Izn+bn 66 0,70 | 1A 25 24 320 2(e) | CPC Beuxanns aepen 227 -
30 378 | 10.9 (2) (.6 0.6 9C3 1 lantbn 66 0.70 | 1A 25 24 320 2y | CPE Benxanns neper Ky 7 =
Beworo: - - - ] 3 2,6 2,6 = 2 = = = = - = = = = -
Haune 88 / 6.6 (1) 0.5 0.5 10C3 49 0.90 2 22 320 2(e) CPC Beuxanns epes 262 -
- 88 7 6,6 | (2) | 0.1 0.1 10C3 49 090 | 2 22 320 2(c) | CPC | Beuxanus  nepe 120 =
- 91 | 6.1 (1) i3 0.3 10C3 59 0.70 | 2 19 24 260 2(e) | CPC | Benxanus jepes 147 -
- 91 2 34 | () | 01 0.1 10C3 66 0.70 | 1 21 28 320 2(e) | CcpC | Benxanns aepes 110 5
[ - 91 3 3.9 | (D 1.7 1.7 10C3 33 070 | 2 18 22 240 2(e) | CPC | Benxanns aepee 168 -
Benoro: - - - - 2.7 2,7 = = z = = = L - - - 179 -
HenTpansue | 222 13 13.1 (1 (415 0.7 10C3+bn 71 0.7 la 2 32 400 2(e) CPC Beuxanns jiepes 236 -
- 226 9 2.8 (1) 0.4 0.4 8C32bn 91 0.7 | 1A 30 36 380 20ey | ‘CPE Beuxanns nepes 270 -
5 226 | 10 2.3 (1) 0.3 0.3 10C3 91 0.6 | 27 36 360 2(e) | CPC Beuxanns nepen 230 -
- 249 | 8 1.2 | (D) | 0.6 0.7 10C3 81 0.8 | 1 26 28 440 2(¢) | CPC | Beuxanna neper 265 .
Beworo: - - - - 2,0 2,0 - - - - - - - = - & - -




] wl 2 3 4 5 0 7 8 9 10 % 11 12 13 14 £S 16 17 18
_ipuisesre | 467 10 1,8 - - - 10C3K 71 0,5 2 21 22 220 2 CPC Kopenena ryoka 332
| Tapacisebke - - - - - - - - - - - - - 3 - z -
_ - N - = - - - = - - - - - - = - & - ._m,r.:z:c_.“x\é
Hw_u_:mnrza 494 2 4.5 (N 0.8 0.8 10Cs+hn 43 0,7 M I 17 20 230 2 Benxanns nepes 194 |kvsanng ne
Octpincsre | 494 2 4.5 (2) 0.8 0.8 10C3+hbn 43 07 | i 17 20 230) 7T Beuxanus aepen 297 BUSBIEHO
e 494 | 5 48 | (1) | 03 0.3 10Cs 79 0.8 _ I 25 36 420 2 Bewxanns acpes 483 7
L 332 10 7.0 (1 1.4 1.4 10C3 99 065 | 2 23 28 320 7] Benxanns nepen 358 >
| Beboro: = = - s 33 33 - - - - - - g . - - E =
Hipuiseske | 340 3 4.2 (1 0.3 0.3 9Cs1 /13 64 0.7 1 21 22 300 2 CPC Benxanns nepen 26() -
| Bumeaydeaa | 340 |8 B5 | g | 0S 0.5 10Cs+bn 3 0.7 |"1 19 I8 240 2 CPC | Bemsams aepes 332 g
HEhKE 540 | 17 | 37 | (ay | 06 0.6 10C3+]13+bn 63 | 0.85 | 1 20 20 310 2 | ¢cpc | Bewxanns aepes 208 -
0 ) sav | 7 20 y o6 | 06 | 9csibuis | 67 | 08 | 1 | 24 28 370 2 | cpe | Bensanusaepen | 250 -
- 541 9 2,6 :..v 0.5 0.3 8C32/13 134 (0.4 J"r 2 28 10 190 2 CpC | Benxanms acpen 348 -
. 541 1 9 | 26 | (2 | 09 0.5 8C32/13 134 | 04 | 2 28 40 190 2 CPC | Bemxans aepen 169 -
] 55| 3 | 39 | (| 09 0.9 9Cs1l3+bn 55 06 |1A]| 23 20 270 2 | cpe | Bewxanns aepen 280 -
- 562 | 17 | 2.0 | (1) | 0.5 0.5 10C3+bn 104 06 | 2 26 36 320 2 Cpe | Bemxanns aepes 340 7
- 51 1 4.3 (1) 0.3 0.3 9C31bn+]13+0 64 0.7 | 20 20 270 2 cpeC Beuxanng aepes 257 "
s 371 6 1.6 (1) 0.2 0.2 9C31bn 53 0,7 1 20 I8 26() 2 cpe Bewxanns nepes ]0) -
- 571 13 1,2 (n Il ) 10C3+]13+bn 124 0.4 2 26 48 220 2 Ccpe | Benxanns acpen 276 =
: 5TT 6 4.6 (n 0.4 0.4 10C3+bn 99 0.7 ! 28 32 360 2 CPC Beuxannis nepes 360 L
T 584 | 11| 07 | (1) | O 0.1 10C3+ 13 55 0.7 [ 1A | 22 22 320 2 CpPC | Benxanns aepes 240 5
. | s8a 13 8] (1) 1.0 1.0 10Csk+bn 60 0.5 | 21 20 210 2 CPC Kopenera ryvdka 304 -
Benoro: v iy - - 7,9 7.9 £ = z = = s - - - - = =
Mipuiscnke | 599 | 1.7 (1 0.4 0.4 10C3 41 0.6 2 14 16 150 2 CPC Beuxanns aepes 215 -
Jledeniscnke | 599 3 3.3 (1 1.1 1.1 8C31)z1bn 66 0.8 | 1A 24 28 370 2 CPC Benxanns nepes 287 -
- 608 4 5.0 (1) 1.0 1.0 10C3 63 0.83 | 21 22 370 2 CPC Kopeneea rvoka 265 -
= 608 5 6.0 (1) ]2 1,2 10C3 67 0.8 | 22 26 340 2 CPC Kopenesa ryvoka 315 -
- 608 5 6.0 (2) 13 L3 10C3 67 0.8 1 22 26 340 2 CPC Kopenesa ryoka 315 =
- 608 9 1.8 - - - 10C3 59 0,7 1 21 22 340 2 CPC Kopenesa rydka 242 -
- 608 | 10 | 04 . - - 10C3 79 0.7 | 1 24 26 360 2 CPC | Bewxanns nepes 405 -
5 614 | 12 | 3.1 | (1) | 01 0.1 10C3+bn 69 07 | 2 19 20 260 2 | cpC | Bewnxanus nepen 290 -




1 2 3 4 5 | & 7 8 9 10 13 14 15 16 17 18

[ipnisebke | 614 3.1 (2) “ 0.1 0.1 10C3+bn 69 0.7 20 260 2 cpe Beuxanus acpen 400

Jlebepinenke | 622 | 30 | p 0.2 0.2 10C3 0 | 0.7 28 310 2 CPC | Bewxanns aepes 320

L . | 648 | 2 2.4 (1) 1.3 1.0 10C3 54 | 08 22 340 2 CpC | Benxanwa sepen 382

| - 648 3 2.1 (1) 1.6 1.6 10C3 69 0.7 28 400 2 Cpe | Beomxanng aepen 346

648 | 4 83 | (1) 0.1 10C3 76 0.8 32 460 2 CpC o Bonxanng acpen 300

- 649 5 3.7 0.6 0.6 10C3 79 0.7 28 360 P CPC Beuxanng aepes 370

I - 631 I 3.4 0.4 0.4 10C3 79 0.7 32 380 2 CPC | Benxanna aepes 400

= 651 | 3 3.1 (1 1.9 9 10C3+/13 79 0.6 39 310 2 cPe Benxanns aepen 20()

= 651 | 9 0.5 | (1y | 01 0.1 10Ca 104 0.5 40 200 2 CpC | Benxanns aepes 380

- 652 1 0.8 = - - 10C3 94 0.4 36 230 ) CpC Beuxanus acper 204

B G50 | 3 69 | (n | 06 0.6 9C31Bn 99 0.4 48 230 2 CpPe | Bewxanns aepes 257

- 652 | 6 | 08 | (n | 02 0.2 10C3 84 0.6 32 400 2 CPC | Bomxanus aepen 220

652 | 22 0.8 (1) 0.8 0.8 10C3 124 0.6 44 33() 2 CPE Benxanna nepes 313

- 633 3 1.7 (1) 1.4 1.4 10C3 99 0.4 40 210 2 CPC | Bomxanmis aepes 187
| Beworo: - = 3,0 - 14,4 14,4 - - - - - - - - -

Hosocinkises | 744 3 19.5 (1 0.8 0.8 10C3 96 0.90 32 300 2 cre Beunxanus aepen 395

Ke 744 3 195 | 2) 0.5 0.5 10C3 96 0.90 32 500 2 CPE Beuxanns nepen 422

- 745 1 4.1 (1) 0.9 0.9 10C3 86 0.80 32 500 2 CPC | Beuxanus nepes 358
Besoro: - - - - 2.2 2.2 - - - - - - 5 -

Nyropeske | 165 | 9 24 | (1) | 04 0.4 10C3+bn 81 065 | 2 3 36 300 CPC | Benxanns aepes 310

- 184 2 0.6 (h 0.3 i3 10C3 46 0.60 | 2 20 170 CPC Beuxanns aepen 234

& 184 3 1.0 (1 0.9 0.9 10C3+bn 46 0.80 22 255 €PG Beuxanns aepes 249

n 188 7 2.1 (1) 0.8 0.8 10C3 43 0.70 20 220 CPC | Beuxanus aepen 144
Beboro: - - - - 2,6 2,6 - - - - - - - -
Paszom no aicroeny 85,2 ra. - = i " . : - -




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Xorsnigebke | 817 | 7 1.1 - = < 10C3 101 | 030 | 2 25 36 160 2 CPB Cocnona rybka 100 3riano marepianis
- 817 8 2.6 . = = 10C3 101 | 0,50 | 2 25 36 280 2 CPB Beuxanna nepes 50 AiCORNOPANKYBAHHS
= 817 1 14 | 2.0 : e = 10C3 121 | 0,40 [ 2 27 36 240 2 CPB Cocnosa ry6ka 70 © HE BMABJICHO
- 828 | 10 2.5 - - - 10C3 96 | 0,70 | 1 27 36 450 2 CPB Beuxanus sepes 40 -
- 828 | 14 | 25 s - 2 10C3 91 | 0,80 | 1 26 32 470 2 CPB Beuxanns gepes 30 5
= 829 | 10,0 = = = 10C3 84 | 0.80 | 1 26 28 440 2 CPB Beuxanns nepes 40 -
- 829 | 2 0,6 - - - 10C3 106 | 030 | 2 26 40 170 2 CPB Cocnosa rybka 80 L
. 829 3 2,0 “ = - 10C3 106 | 0,70 | 2 26 40 400 2 CPB Cocnosa rybka 80 “
- 829 | 4 29 | (1) 1,9 1,9 10C3k 59 10,70 | 1 20 26 290 2 CrPB Kopenesa rydka 30 -
- 823 5 5.7 (n 5.3 53 10C3 121 | 0,65 | 2 28 |.. 40 390 2 CPB Beuxanns nepes 50 -
- 823 | 12 1.3 - - - 10C3 141 | 0,40 | 2 29 44 250 2 CPB Beuxanus nepen 40 =
= 847 | 10 1.9 2 - - 10C3 51 10,70 | 1 18 20 250 2 CPB Beuxanns nepes 20 -
- 847 | 14 1.6 = - - 10C3 61 | 070 | 2 18 20 250 2 CPB Beuxanns nepes 40 -
- 851 | 10 | 69 . = . 10C3 76 | 0.80 | 2 5% 28 380 2 CPB Beuxanns nepes 30 -
. 854 5 0.9 . . - 10Cs3 11| 065 | 2 25 40 350 2 CPB Benxanns nepes 20 -
: 854 | 7 8.9 = 2 Z 10C3 111 | 0,60 | 2 25 40 330 2 CPB Beuxanns nepes 40 -
- 862 1 10,2 - G - 10C3 111 | 065 | 2 25 28 340 2 CPB Beuxanus nepes 50 -
. 862 | 4 6.5 = - . 10C3 111 | 065 | 2 25 36 340 2 CpPB Beuxanus nepes 40 -
: 862 1 6 | 35 - - - 10C3k 81 o070 | 2 | 22 28 310 2 | CPB | Kopenesa ryoka 40 -
- 862 9 12 3 5 - 10C3 111 | 060 | 2 25 9 320 2 CPB Beuxanus nepes 30 -
= 821 13 4.7 = = % 10C3 66 0,70 2 20 23 300 2 CPB Beuxanns nepes 40 =
= 825 16 | 43 - - - 10C3 121 1 0,70 | 2 29 40 440 2 CPB Beuxanns nepes 40 -
- 832 16 3,2 - - - 10C3 121 { 0,70 | 2 27 44 380 2 CPB Beuxanus nepes 70 3
- 833 6 2,0 - - - 10C3 121 | 0,60 | 2 29 40 390 2 CPB Beuxanus aepes 70 _
- 844 6 1.8 - - - 10C3 121 | 0,65 | 3 24 36 310 2 CPB Beuxanng nepes 50 =
: 873 | 5 4,1 - - s 10C3 55 | 0.80 | | 20 24 300 2 | CPB Bewuxannsg nepen 50 -
Benoro: - - 94,9 - - - - - - - - - - - - - 1240 -
Hybeuancbre | 731 1 1.0 - - - 9C31BI1 50 0.8 | 1A 23 24 370 2 CPB Beuxanns nepes 30 -
- 731 2 5.7 - - - 10C3 81 08 | 2 22 26 370 2 CcrB Beuxanus nepes 20 5
- 731 3 0.5 - - - 10C3 57 0,8 1 20 29 320 2 CPB Beuxanns aepen 30 -
- 731 4 1.7 - - - 10C3 66 | 0.8 | 1A | 25 28 430 2 crB Benxanns aepes 55 -
- 731 | 5 1.9 - - - 10C3 56 | 085 | 1A | 22 24 370 2 | CPB Beuxanns aepes 30 -
- 731 7 1.5 - - - 10C3 101 | 0.7 1 30 44 480 2 crB Beuxanns nepes 30 -
- 731 8 3.0 - - - 10C3 96+% 0,7 | 2 25 30 380 2 CPB Beuxanns nepen 30 =




| 2 (3|l 4] s | 7 8 9 |10 [n]| 12 13 14 15 [ 16 17 18 19
Jybeuancoke | 731 9 1.3 - - - 9C31BI1 37 1085 1 16 18 250 2 CPB Beuxanns aepes 30 3rijHo marepianis
- 731 ] 10 | 4.2 - - - 10C3 9% | 0.8 1 28 32 500 2 CPB Beuxanua nepes 20 NCOBNOPAAKYBAHHS
- 731 11 0.8 = - - 10C3 60 0.8 1 21 22 340 2 CPB Beuxanns aepen 30 HE BUSIBJICHO
- 731 12 3.1 - - - 10C3 106 0.7 2 27 36 420 2 CPB Beuxanus nepes 30 -
- 731 13 ] 09 - - - 10C3 60 0,8 1 21 24 340 2 CPB Beuxanns jepes 30 -
- 731 14 | 05 = - - 8C32bI11 59 0,7 1 20 20 260 2 CPB Bceuxanns nepep 30 =
- 669 | 3 0,5 - - - 10C3 151 | 06 | 1 31 48 370 2 | CpB Bewxanns nepen 30 -
- 669 3 1.9 - - - 10C3+bn 61 0.6 1 20 24 240 2 CPB Beuxanns aepes 30 ]
- 669 8 1.2 = 3 - 9C31Bn 50 0,8 2 16 18 210 2 CPB Beuxanus aepen 30 =
- 669 | 9 | 10,0 - - - 9C31Bn 64 | 07 | 2 20 24 260 2 | CPB Beuxanus nepen 20 -
- 669 16 1,0 - - - 10C3 51 0.9 1 18 18 290 2 CPB Beuxanus nepes 30 -
= 669 | 19 | 51 | (1) | 46 | 46 10C3+bn 58 | 08 | 1 20 |22 300 2 | CPB | Bceuxauns aepes 30 -
- 670 | 1 0.3 - - - 10C3+bn 91 | 06 | 1 26 32 340 2 | CPB Beuxanns aepes 30 -
- 670 | 2 0.4 - - - 10C3+bn 121 | 0,55 | 2 29 40 190 2 crB Beuxanns nepes 30 -
- 670 | 4 3.1 (n 1,7 iy 10C3+bn 91 0.6 1 26 36 340 2 CPB Beuxanus seper 20 -
- 670 | 5 1,2 - 5 - 9Cs1bn 66 | 0.6 1 23 24 270 2 CrPB Beuxanns siepen 30 -
- 670 8 0,1 - - - 10C3+bn 66 0,6 1 22 24 260 2 CrPB Beuxanus nepen 20 -
- 670 | 10 | 0,7 = - - 7C33bn 66 0,6 2 20 26 200 2 CPB Beuxanus nepes 30 =
. 670 | 11 5.8 = " - 10C3+bn 106 | 0.7 1 28 44 420 2 CPB Beuxanus gepen 20 -
- 670 | 12 | 34 | (1) | 33 3.3 10C3+bn 101 | 0.7 1 28 40 440 2 CPB Beuxanus nepen 30 -
- 670 | 13 0.5 = - s 10C3+bn 41 | 055 | 1 20 18 100 2 cPB Beuxannsg jgepes 30 -
- 670 | 16 | 1.2 - - - 10C3 96 | 0,65 | 1 27 32 390 2 crB Beuxanus jepes 30 -
- 670 | 18 | 6.1 - - - 76n3C3 66 | 06 | 3 20 22 190 2 CPB Bceuxanns nepen 30 -
- 670 | 19 | 1.2 - - - 10C3+bn 57 | 0,7 | 1a | 22 24 320 2 CPB I'yGka cocHoBa 30
Beworo: - - 69,8 - - - - - - - - - - - - - 895 -
Jecusinebke | 326 I 24,6 - - - 8C32bn+/1z | 91 0:7 | 28 36 370 2(e) | CPB Beuxanns nepes 30 -
- 326 | 9 1.6 - - - 10C3 86 | 07 I 28 36 410 2e) | cprB Beuxanns nepen 35 -
= 328 1 1.8 - - - 10C3 95 0.6 1 28 36 400 2(e) | crB Beuxanns nepes 30 -
: 328 | 7 0.6 - - - 10C3 91 0.6 1 27 32 360 2(¢) | CPB Benxanns xepes 30 -
- 328 | 8 1.8 - i - 10C3 81 0.6 | 1 27 36 360 2(e) | CPB Beuxanns nepen 30 -
= 328 9 0.6 - - - 10C3 21 0,7 1A 30 36 450 2(e) | CPB Beuxanns nepes 40 =
- 328 | 11 | 1,0 - = = 10C3 81 | 06 | 1A | 29 34 390 2(e) | cpPB Benxanns nepes 30 -
- 328 17 1,0 H - i 10C3+6n 91 0.6 I 28 36 380 2(e) | CPB Beuxanns nepep 30 -
- 334 | 5 1.3 - - - 10C3 9 | 0.6 1 29 34 370 2(e) | cPB Beuxanns aepes 30 -
- 335 | 10 | 1.2 - - 2 10C3 91 06 | 3 20 26 220 2(e) | CPB CocHora ryfka 30 -
Benoro: - - 35,5 - - - - -y - - - - - - - = 315 - N




1 2 3 4 5 6 ) 8 9 10 11 12 13 14 15 16 17 18 19
Ipumopcbke | 344 1 10,0 - - - 8Csl Tuplbn| 45 | 0,70 | 1 17 16 200 2(e) | CPB Benxanns nepen 20 3riano marepianis
= 344 4 10,0 - - - 10C3+/Tup+B | 45 0,70 | 2 15 16 200 2(e) | CPB Beuxanus sepes 20 JCOBMOPSJIKY BAHHS
% 345 1 12,3 - - - 10C3+bn 43 0,60 1 16 16 170 2(e) | CPB Beuxauns niepes 20 HC BHABJICHO
- 353 1 8.0 - - - 10C3+/[3+bn| 66 | 0,70 | 2 18 24 260 2(e) | CPB Beuxanns nepes 15 -
= 355 11 9,6 - - - 8Ca2bn+)I3 | 64 | 0.60 | 1 21 28 220 2(e) | CPB Beuxanus aepes 15 -
- 355 4 0,7 - - - 10C3 91 0,60 1 28 40 370 2(¢) | CPB CocHona ryoka 20 -
Beboro: - - 50,0 - - - - - - - - - - - - - 110 -
Haune 93 11 15.0 - - - 10C3+bn 8 | 067 | 1 27 36 400 2(e) | CPB Beuxanns nepes 25 -
E 93 | 16 | 1.1 - - - 8C32b6n 81 1070 | 1 27 40 350 2(e) | CPB | Benxanns nepes 25 -
- 98 12 | 3.8 - - - 10C3 81 | 070 | 3 18 32 220 2(e) | CPB Beuxanna sepes 25 -
= 99 14 1,2 B & - 10C3+bn 71 0,70 | 1 25 36 380 2(e) | CPB Beuxanus nepes 25 -
- 99 16 6.9 - - - 6/132C32bn+0c| 68 | 0.70 | 3 18 2 220 2(e) | CPB Beuxanus nepes 25 -
- 99 17 | 3.8 - - - 8C32/13 81 | 070 | 1 27 36 380 2(e) | CPB Beuxanns nepes 25 -
- 105 6 1.5 - - - S34bn10c+C3| 66 | 0.70 1 23 26 220 2(e) | CPB Beuxanns nepes 25 i
& 105 | 10 | 1.7 " - - |[Als30c¢3Bn+Bn| 68 | 0.70 | 1 23 26 280 2(e) | CPB Beuxanna nepes 25 =
- 110 | 21 1.8 - - - 10C3+bn 74 | 0.70 | 1A | 27 32 400 2(e) | CPB Bewnxanns nepes 25 -
- 110 | 25 | 1.0 - - - 7C33bn 60 | 070 | 1 21 26 230 2(e) | cPB Beuxanns iepes 25 5
Beworo: - - 37.8 - - - - - - - - - - - - - 250 -
Hentpansue | 226 2 8.2 - - - 10C3 91 0.8 1 28 36 490 2(e) | CPB Beuxanna nepes 25 -
- 26| 6 |36 - | - | - onz_ﬁmﬂm: 9 |09 | 1| 28 | 36 | 470 || cpp | Bomxamnsaepes 30 :
. 26| 9 | 28] - | - : QQ_NWW__Q: 91 | 07 [1a| 30 | 36 | 380 |2©) | cpp | Bowxannsnepen 30 :
- 226 | 10 23 - - - 10C3 91 0.6 1 27 36 360 2(e) | CPB Beuxanns nepes 25 -
5 sl 3 Lo = 1 = %Aﬂ%@% 64 | 07 [ 1a| 27 | 28 | 340 |9 | cpg | Bemxannsacpes 30 .
- 253 | 10 | 3,0 - - - 10C3 91 | 075 | 1 29 36 470 2(e) | cPB Benxanus nepes 30 -
- 278 1 2,6 (1) 2.3 2.3 10C3 91 0,7 1 26 32 380 2(e) | CPB Beuxanus nepes 25 -
- 278 2 18,5 - - - 10C3 76 0,7 1 24 28 350 2(e) | CPB Bewnxanns nepes 30 -
- 278 6 2.6 - - - 10C3 91 0.7 1 26 32 380 2(e) | CPB Beuxanns aepes 30 -
- 278 7 2,9 - 5 2 10C3 64 0,7 1 22 24 340 2(e) | cPB Beuxauns nepes 30 E
Beboro: - - 49,9 - - - - - - - - - - - - - 285 -
Hoero6poais | 154 | 2 9.1 s = - 10 C3+bn 91 | 0,65 | 1 29 36 420 2(e) | CPB Beuxanus nepes 20 -
chKe 154 3 9.5 : - = 10C3 91 06 | la 30 36 420 2(e) | CPB Benxanus nepes 20 -
- 154 5 0.8 - - B 8C32bn 81 0.4 3 19 28 130 2(e) | CPB Beuxanus nepen 15 -
- 154 | 7 3.5 . . < 10C3 91 } 06 | la | 30 36 425 2(e) | CPB Beuxanng nepes 20 3 R




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Aosrobpogis | 155 4 7.8 - - - 10C3 91 0,6 1 29 32 400 2(e) | cPB Beuxanus nepes 20 3rizHo Marepianis
cbke 155 il 7 0.3 - - - 10 C3+bn 81 07 1 1 22 28 320 2(e) | CPB Beuxanns jgepen 15 JCOBNOPANKYBAHHS

- 155 9 3.1 - - = 10 C3+bn 91 0,5 1 26 36 290 2(e) | cpB Beuxanns nepes 20 HE BHABJICHO

S 155 5 1.2 - = = 8C32bn+/3 | 71 0.7 1 26 32 350 2(e) | CPB Beuxanns jepen 20 2

- 155 | 6 1,8 - - . 10C3 61 0,7 1 23 28 300 2(e) | CPB Beuxauns nepen 15 -

- 145 | 7 1.4 - - - 8Ca2bn 66 | 06 | 3 16 22 160 2(e) | CPB Beuxanns nepen 15 -

= 145 8 0.2 = - - 9Cz1Bn 91 0.6 3 16 22 160 2(e) | CPB Beuxanns nepes 15 =

- 145 | 5 4.9 - - - 10C3 90 | 0,7 | 1 28 32 410 2(e) | CPB Beuxanus nepes 20 -

Bewboro: - - 43,6 - - - - - - - = - - - - - 215 -

Hosociakisen | 735 11 e - - - 8C3IBITIA3 | 60 0,75 | 1A 25 26 350 2 CPB Beuxanns nepes 35 -

Ke 735 12 2.4 - - - 9C31bI1 56 | 085 | 1A 22 22 370 2 CPB Beuxanus nepes 25 -

- 735 | 13 1.8 - - - 10C3+]13 126 | 0,40 | 1 31 40 270 2 CPB Beuxanus aepen 20 -

- 735 14 1.6 - - - 8C32JI3+BIT | 111 | 0,60 | 2 28 40 350 2 CPB Beuxanns nepen 25 -

- 735 | 16 1,0 - - - 10C3 76 | 0,80 | 1 25 28 430 2 CPB Beuxaunns nepes 20 -

- 735 | 21 1.2 - - - 9C3113+BI1 | 101 | 065 | 2 26 32 330 2 CPB Beuxannsa nepen 30 -

- 736 2 3,1 - - - 10C3+BI1 59 [ 0,75 | 1A 23 24 380 2 CPB Beuxanus nepes 15 -

- 736 10 0,5 - - - 10C3 81 0,70 | 1A 29 36 460 2 CPB Beuxanus aepes 25 -

- 736 | 11 2.1 - - - 10C3+BT1 55 | 080 ) 1A 22 26 370 2 CPB Beuxanns nepes 20 -

- 736 | 12 | 3,0 - - - 10C3+/3+bI1| 59 | 0,75 | 1A 23 26 360 2 CPB Beuxanus aepes 20 -

- 736 | 13 1.3 - - - 10C3 85 | 0,80 | 1 26 32 450 2 CPB Beuxanus nepes 30 -

- 751 10 4,3 5 - - 10C3+BI1 70 | 0,80 1 23 26 380 2 CPB Beuxauns nepen 30 -

- 751 14 32 - - - 10C3 1% (070 | 2 28 40 440 2 CPB Beuxanna nepes 35 -

- 798 12 3.9 - - - 10C3 111 | 0,70 2 26 36 400 2 CPB Beuxanus nepes 35 -

- 798 13 151 - - - 10C3 74 10,70 | 2 22 24 320 2 CPB Beuxanus nepes 30 -

- 798 16 35 - - - 5C33Bnu2bn| 90 0,50 1 26 32 200 2 CPB Beuxanus nepes 35 -

- 798 | 17 1.4 - - - 10C3 66 | 0,70 | 1 24 26 360 2 CPB Beuxanus nepes 20 -

- 799 1 1,6 - - - 10C3 9% | 0,70 | 1 29 40 460 2 CPB Beuxanns nepes 35 -

- 799 2 0.3 - - - 10C3 51 0.80 | 1A 21 24 370 2 CPB Beuxanus nepes 20 “

- 799 3 1.3 - - - 8C32)13+bn+0O| 78 0,75 1 24 28 450 2 CPB Beunxanus nepes 30 -

- 799 4 2.8 - - - 10C3 106 | 0,60 | 28 36 370 2 CPB Beuxanus nepes 35 -

- 799 5 0.6 - - - 8bnl1C31J13 | 76 | 0.50 | 3 20 32 140 2 CPB Beuxanns nepes 20 -

- 799 6 1.8 - - - 10C3 141 | 0,50 | 1 33 44 380 2 CPB Beuxauns nepes 30 -

- 799 7 0.4 - - - 6bn2C31/1310c¢ 71 0,70 | 2 23 28 240 2 CPB Beuxanus nepes 20 =

- 799 8 1,0 - - - 10C3 71 0,80 1 25 28 430 2 CPB Beuxanns nepes 25 -

- 799 9 0.5 - - - 10C3 76 0.80 1 26 32 450 2 CPB Beuxanus nepes 25 =

- 799 10 33 - - - 10C3+/13 101 4 0,70 1 27 36 420 2 CPB Beuxanus nepes 30 .




1 2 3 4 5 8 9 10 11 12 13 14 15 16 17 18 19 ]
Hosocinkisen | 799 | 11 0.4 - 8/32C3+bn | 61 | 0,70 | 1 24 26 280 2 CPB Beuxanns nepes 20 3riaHo Matepianin
Ke 799 | 12 0.8 - 7C326nlJ13 | 71 0,70 1 25 36 310 2 CrPB Beunxauus nepen 25 JCOBNOPAAKYRAHHS
- 800 1 9.0 - 10C3+bn 71 0,70 1 24 28 360 2 CPB Beuxanus nepes 30 HE BUABJIECHO
- 800 2 0.6 - 10C3 48 | 0,70 | 2 17 18 220 2 CPB Beuxanns nepes 15 -
- 800 4 3.2 - Ton2[131C3 | 66 | 0,70 | |1 26 26 250 2 CPB Beuxanns nepen 20 -
800 3 0.7 - 10C3K 48 | 0,60 | 2 16 18 170 9] CPB Kopenena ryfka 15 -
- 800 6 0.8 - 9C31/13 161 | 0,40 | 2 29 52 250 2 CPB Beuxauns nepes 20 -
- 800 7 0,6 - 931C3+bn | 61 0,70 2 22 24 220 2 CPB Beuxanns nepen 20 -
- 800 8 4,0 - 10C3+bn+/IC| 66 | 0,60 1 24 28 300 2 CPB Beuxanns nepes 25 -
- 800 9 0.8 - 10C3+)13+0c| 66 | 0,70 | 1 24 28 360 2 CPB Beuxanns nepes 25 -
= 800 10 1.3 - Tbn2C3113 | 76 0,70 2 25 28 260 2 CPB Beuxanns nepen 30 =
= 800 | 12 | 0,10 - 10C3 116 | 0,40 | 1 30 40 250 2 CPB Beuxanus nepes 35 -
= 800 13 0.7 - 4bnd40c2]13 | 61 0,60 1 24 24 220 2 CPB Beuxauus nepes 20 -
Bcboro: 2 o 79,2 - = = - £ “ o % - - - 1020 =
Xyropenke | 185 | 2 11,0 5 10C3 76 | 0,70 | 1 23 32 320 2(c) | CPB Beuxanus nepes 30 -
- 185 | 3 1,2 - 10C3 71 1075 | 1 ) 28 320 2(e) | CPB Beuxanns nepes 40 .
z 185 | 8 2.3 - 8C3 2bn 56 | 0,60 | 1 21 28 220 2(e) | CPB Beuxanus sepes 45 r
- 185 9 1,1 - 9C3 1bn 76 0,70 1 23 32 310 2(e) | CPB Beuxanns nepes 40 -
5 185 | 14 | 26 - 9Cs 1Bn 57 10,70 | 1 21 26 310 2(e) | CPB Beuxanns nepes 40 =
E 185 16 2.1 - 10C3+bn 59 | 0,75 1 21 26 320 2(e) | CPB Beuxanns nepes 40 =
- 186 1 0.8 - 10C3 81 [ 075 | 1 24 32 350 2(e) | CPB Beuxanns sepes 40 =
- 186 2 23 % 8C3 2bn 71 0,60 | 1 23 28 250 2(e) | CPB Benxanns nepen 35 =3
- 186 16 4.4 - 10C3+bn 91 0,50 1 28 48 320 2(e) | CPB Beuxanns nepee 40 =
- 186 18 0.3 - 10C3+bn 81 0,75 1 24 37 400 2(e) | CPB Beuxanns nepes 50 i
Beboro: - = 28,1 = - - = = = = = - - - 400 =
I'yriBenke 53 4 0,5 - 10C3+]13 76 0,7 | la 28 34 470 2(e) | CPB Beuxanns nepes 20 -
- 53 7 0,8 - 8C32/13 91 0,5 1 29 36 320 2(e) | CPB Beuxanus nepes 20 =
- 53 10 1,2 - 7C33]3+bn+I1 81 0,7 la 28 36 400 2(e) | CPB Beuxaunns aepen 20 c
- 53 22 1.0 - 10C3+/13+bn | 66 0,6 la 25 30 330 2(e) | CPB Beuxanus nepes 20 =
- 53 | 24 | 26 - 10C3+/13 9% | 05 2 26 36 290 2(e) | CcrB Beuxanusg epes 25 -
- 53 26 0.6 - 10C3 66 0,7 1 24 30 370 2(e) | CPB Beuxanus jepen 20 =
- 53 27 2.5 - 10C3+]13 91 0.6 1 29 34 420 2(e) | CPB Beuxanns nepes 20 -
- 53 32 1.2 - 10C3+/13+bn | 81 0,7 | 26 26 420 2e) | CPB Beuxanus nepes 20 =
- 53 34 0.3 - 10C3+]13 81 0,7 la 29 36 470 2(e) | CPB Beuxanus nepes 20 -
- 52 18 | 03 - 10C3+/13 96 0,5 2 26 38 280 2(e) | CPB Beuxanus aepes 20 2




1 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
Fyriseske | 57 | 19 | 0.8 10Ca 86 | 065 | 1a | 29 34 470 2(e) | CPB Beuxanus jiepes 15 3rinno marepianis
- 57 21 0.4 8C32)13 90 0,7 2 25 34 350 2(e) | CPB Beuxanns nepes 20 NICOBNOPSIKYBAHHS
- 61 4 4.8 8C32bn 81 07 | la | 28 38 350 2(e) | CPB Beuxannus nepen 20 HE BUABIEHO
s 61 12 49 8C326n 86 0,7 1 27 36 340 2(e) | CPB Benxanns nepes 25 -
- 62 15 1.3 10C3+/13+bn | 81 0,7 la 29 36 450 4(e) | CPB Beuxanus nepes 25 -
- 63 19 0,7 8Ca2bn+I3+/1] 71 0.6 1 24 32 270 4(e) | CPB Beuxanus nepes 20 -
- 68 1 T 8C31I31bn | 63 | 0,65 | la 24 34 300 4(e) | CPB Beuxanus neper 20 -
Beboro: - - 30,3 - - - - - - - - - - 325 -
Ocrpibebie | 475 | 1 | 183 10C3tbn | 119 | 06 | 2 | 27 40 340 2 | CPB | Bceuxanus nepes 60 2
- 475 1 4 | 10 10C3 89 | 07 | 1 28 36 450 2 | cpB | Benxanus nepes 60 -
S 475 | 5 | 06 10C3 69 | 08 | 1 21 22 350 2 | cpB | Beuxanus aepen 60 -
- 451 6 | 17 7Ca3bn 68 | 07 | 1 24 26 300 2 | ¢pB | Benxanns nepes 60 -
5 475 7 i 10C3 89 0,7 | 26 38 350 2 CPB Beuxanns nepes 60 -
~ a7 [ g | 1,2 10C3+bn | 89 | 07 | 1 26 34 430 2 | CPB | Beuxanus nepes 60 -
= 475 | 13 0.9 10C3 84 0.7 1 26 32 370 2 CPB Beuxauns aepes 60 -
- 483 | 1 | 0.8 10C3+bn | 94 | 06 | 1 28 40 380 2 | €PB | Beuxanns aepes 60 -
- 483 | 3 | 04 10C3+bn | 129 | 06 | 2 | 27 42 330 2 | CPB | Beuxanns nepes 60 -
= 483 | 4 0,8 10C3+bn 129 | 0,6 2 27 42 330 2 CPB Beuxanns nepes 60 =
" 483 7 0.7 10C3+Bn 129 | 0.6 2 27 42 330 2 CPB Beuxanus nepes 60 =
. 483 1 g | 13 10C3+/I3+Bn | 104 | 0,7 | 1 27 40 380 2 | CPB | Beuxanus nepes 60 -
- 483 | 10 | 80 8CR2bu+/ls+Ba| 67 | 08 | 1 | 23 26 330 2 | CPB | Beuxauns nepes 60 -
. 483 | 11 | 1.2 5C34BulBau| 62 | 08 | 1A | 23 26 290 2 | CPB | Bewnxanus xepes 60 -
s 483 | 12 1,2 10C3+bn 104 | 0.6 1 27 42 330 2 CPB Beuxanus nepes 60 D
- 483 | 13 1.0 10C3 104 | 04 | 2 25 42 220 2 CPB Cocunosa rybka 60 .
: 483 | 14 | 43 10C3+Bn 124 | 06 2 26 16 340 2 CPB CocHosa ry6ka 60 -
L 483 | 15 | 03 10C3 9% | 06 i 27 32 370 2 | CPB Beuxanus nepes 60 J
- 483 1 17 | 08 10C3+/I3+bn| 64 | 08 [ 1A | 24 28 390 2 | CPB | Bcenxanus aepen 60 -
- 483 | 13 23 8C3131bn | 124 | 0.7 5 v 44 280 2 CPB Beuxanns nepes 60 -
Bceboro: - - | 483 - 3 - E = 3 - - - - 1200 -
Buweayoe | 553 1 3.1 10C3+bn 89 0,7 1 27 32 400 2 CPB Beuxanus nepes 60 =
YaAHChKe 553 | 2 0.4 10C3 74 | 06 | 2 19 18 180 2. | CPB Beuxanus epes 60 .
. 553 | 3 16,0 10C3k 79 | 06 1 26 28 340 2 | cpPB Beuxanus aepes 60 -
- 553 4 38 10C3 63 0,7 1 22 20 320 2 CPB Beuxanns nepes 60 -
2 553 | 5 1,2 10C3 94 | 0.6 1 28 36 340 2 CPB Beunxanns nepes 60 .
B 553 7 0.1 10C3+bn 84 0,6 1 27 32 350 2 CPB Beuxanns sepes 60 -
% 553 | 11 1.0 10C3+bn 84 4 0.6 1 26 28 370 2 CPB Bewxanua nepes 60 o




1 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
Bumeaye | 353 | 12 1,0 10C3 79 0.4 1 23 28 190 2 CPB Beuxains nepes 60 3rimio Matepiaiin
YaHChKe 566 | 7 1,1 10C3+Bn 79 | 04 1 25 32 220 2) CPB Beuxanus nepes 60 JICOBIOPANKYBANISA

- 566 | 10 | 59 10C3+Bn 108 | 0,7 | 2 27 36 410 2 CPB Beuxanna nepes 60 HE BHABICHO

= 566 17 1.5 10C3 96 0,7 2 25 32 360 2 CcPB Beuxanns nepen 60 =

= 566 19 0.8 10C3 109 | 03 3 23 32 120 2 CPB Beuxanns nepes 60 =

% 566 | 20 1.8 10C3 108 | 0.7 2 24 32 360 2 CPB Beuxanus nepes 60 =

- 566 | 22 2.3 10C3 98 0.7 1 27 36 400 2 CPB Beuxanns nepen 60 -

= 567 1 0,3 10C3 30 | 04 | 2 27 36 240 2 CPB Beuxanus gepes 60 R

L 567 3 0,8 10C3 60 0.8 1 20 24 310 2 CPB Beuxanus nepes 60 5

. 567 4 215 10C3 109 | 0.6 2 26 36 370 2 CPB Beuxanns nepen 60 .

- 567 | 5 25 10C3 154 | 06 | 3 25 32 220 2 CPB Beuxanns jepes 60 S

- 580 1 0.5 10C3 164 | 03 2 30 52 320 2 CPB Beuxanns nepes 60 .

" 580 2 0.8 10C3 119 | 0.4 2 25 40 220 2 CPB Beuxanns nepes 60 B

- 380 | 4 0.4 10C3+bn 55 | 07 1 19 18 260 2 | CPB Beuxanus nepes 60 "

= 580 35 4,7 10C3 119 | 0.7 5 26 36 400 2 CPB Beuxanus nepes 60 .

- 580 | ¢ 1.7 10C3 94 0.7 2 25 32 360 2 CPB Beuxanna neper 60 =

5 580 | 7 1,8 10C3 9 | 06 | 1 2 36 340 2 | CPB Beuxanns jiepes 60 3

= 580 8 0.8 10C3+Bn 67 0.8 2 19 18 300 2 crB Beuxanns nepes 60 -

- 801 9 | 05 10C3 104 | 06 | 2 | 24 36 250 2 | CPB | Benxauns nepes 60 -

- 580 | 10 1.3 10C3 175 | 03 2 30 52 160 2 CPB Beuxanns nepen 60 =

< 580 | 1 1,2 10C3 119 | 0.6 2 28 36 380 2 CPB Beuxanus nepes 60 =

- 580 | 12 | 03 10C3 9 | 06 | 1 26 36 350 2 | CPB Beuxanns nepen 60 .

5 580 f 14 | 0.7 10C3 104 | 06 2 25 40 290 2 CPB Beuxanus jepes 60 =

- 580 | 15 2.3 10C3 109 | 0.8 2 26 36 400 2 crB Beuxanns nepes 60 "

Beworo: = - 63,1 - - - - - - = i - s 1860 =

Jlebenisebke | 649 1 %5 10C3 69 0.7 1 24 24 360 2 CPB Beuxanus nepes 60 =

- 649 2 6.9 10C3 124 | 03 2 26 48 170 2 CPB Beuxanns nepes 60 S

. 649 | 4 1,5 10C3 64 0.9 2 18 18 300 2 CcPB Beuxanns nepen 60 .

o 649 | 5 3.7 10C3 79 0.7 1 24 28 360 2 CPB Bewuxanus nepes 60 -

- 649 | ¢ 3.1 10C3 64 0.7 | 21 28 300 2 CPB Beuxanns nepes 60 -

- 649 | 7 2,6 10C3 39 | 08 1 19 20 300 2 | CPB Beuxanus nepes 60 =

- 649 | g 0,8 10C3 7 e7 1 25 28 380 2 | CPB Beuxanus aepes 60 -

- 652 | 5 | 09 9C31bn 99 | 04 | 1 28 48 230 2 | CPB Beuxanns nepen 60 -

= 652 6 0.8 10C3 84 0.6 | 1A 28 32 400 2 crPB Beuxanns nepes 60 -

- 652 7 6,2 10C3 100 | 0.5 | 1A 30 48 340 2 CPB Beuxanns nepes 60 -

- 652 | 8 0,3 10C3 99 06 | 2 26 40 350 2 CPB Beuxanus gepes 60 - ]




1 2 3 4 D 6 7 8 9 10 11 12 13 14 15 16 17 18 19
JleGenisebke | 652 [ 9 0,9 - < = 10C3 29 0.5 2 26 48 300 2 CPB Beuxanns nepes 60 3rimno Marepianis
- 652 | 12 | 0,7 = = - 10C3 89 | 0,5 1 26 36 300 2 CPB Beuxanns nepen 60 |nicosnopsakysanis
- 652 | 13 | 0.2 - y 2 10C3+Bn 64 | 0,5 | 1A| 24 28 250 2 CPB Beuxanns neper 60 HE BHABJICHO
- 652 | 14 12 - - - 10C3 114 | 05 1 30 48 340 2 CPB Beuxanus nepen 60 -
- 652 | 18 | 2.2 . - - 8Cs1/l3lbn | 69 | 0.8 | 1A | 25 28 360 2 | CPB Beuxauus nepes 60 :
= 652 19 3.2 - - - 10C3 100 | 0,5 1 29 40 300 2 CPB Beuxanus nepes 60 -
- 652 1 20 | 1.8 B z o 10C3 89 | 0.8 1 27 36 450 2 CPB Beuxanng nepen 60 s
Beworo: - - 44,5 - - - - - - - - - A = g - 1080 -
azom no Jqicrocny CPB 675,0 ra. - - - - - - - - - - - - 9195 .
OctpiBebke | 515 1 23,0 | (1) 2,0 2,0 10C3 96 0,6 2 26 28 320 2 JI3 Beuxanus aepes 20 -
- 515 3 L7 (1 1,0 1,0 9Baulbn 36 0.6 1 14 18 100 2 J3 Beuxanus neper 20 -
8 515 4 10,9 | (1) 2,0 2,0 10C3 46 0,7 1 17 22 220 2 JI3 Beuxanng nepen 20 &
Beboro: - - - = 5,0 5,0 " = = = = = - N - - 60 _
Buweaybeuan| 548 | 7 50 | (1) | 20 2.0 10C3 86 | 0.8 | 2 22 32 370 2 J3 Benxanus nepes 20 2
cbKe 548 8 3.5 (1) | 2,0 2,0 10C3 81 0.8 2 21 32 340 2 Ji3 Beuxanus nepep 20 -
- 549 | 2 0,9 g - - 10C3+bn 80 | 0.8 1 24 32 390 2 J3 Beuxanns nepes 20 &
- 549 | 3 0,4 - g 3 10C3 40 | 0.7 1 15 16 170 2 3 Bcuxanus aepes 20 -
= 549 4 0.2 - = = 10C3 60 3 2 19 24 120 2 JI3 Beuxanna aepes 20 =
- 549 | 5 0,6 - - - 10C3 48 | 08 | 1A | 21 20 340 2 n3 Beuxanus nepes 20 =
- 549 | 8 0,4 - - - 10C3 48 | 0,7 | 1A | 21 20 300 2 J3 Beuxanusa nepes 20 -
Beworo: - - 2.5 - 4,0 4,0 - - = 3 = - - B e g 140 &
JlebeniBenke | 613 | 2 L5 | (D) | 1,0 1,0 10C3 86 | 08 | 2 22 28 360 2 J3 Beuxanns nepes 20 )
- 613 | 3 0,7 - - - 10C3 171 | 04 | 2 30 52 260 2 3 Beuxanus nepes 20 =
- 613 | 4 0.9 = . - 10C3 88 | 0.8 | 1A | 30 36 520 2 3 Beuxanus nepes 20 -
g 6131 5 | 03 2 - - 10C3 171 | 05 | 2 | 30 56 340 2 J3 Beuxanns sepes 20 :
. 613 1 6 | 20 | (1) | 1,0 1,0 10C3 56 | 0.8 | 2 16 18 230 2 J13 Beuxanns aepes 20 .
- 613 | 8 35 0 () | 1,5 1.5 10C3 76 | 06 | 3 18 18 190 2 J13 Beuxanna nepes 20 -
- 613 9 2.0 (1) 1,0 1.0 10C3 56 0.8 3 13 16 200 2 J3 Beuxanus nepes 20 <
- 613 10 0.6 - 5 < 10C3 32 0,9 2 11 16 140 2 J13 Beuxanna nepes 20 B
s 613 | 12 | 68 | (1) | 1.5 1,5 10C3 9% | 0,7 | 2 23 32 340 2 3 Beuxanns aepen 20 =
- 626 | 3 0,6 - - < 10C3 60 | 0.7 1 20 20 280 2 3 Benxanus nepes 20 .
- 626 | 4 26 | (1) 1,0 1.0 10C3 56 | 0.8 1 21 21 340 2 i3 Bewnxanns nepes 20 =
- 626 | 5 59 [ ()| 20| 20 10C3 81 [ 07 | 1 27 27 420 2 n3 Beuxanus nepes 20 i
. 626 | 10 | 20 | (1) 1.0 1,0 10C3 81 | 0.8 1 25 32 430 2 J3 Beuxanus nepes 20 P




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Jebenisenre | 626 | 14 | 27 | (1) | 1,0 1.0 10C3 55 | 06 |1 55 20 260 2 a3 Beuxauusa jiepen 20 3riano mMarepianis
- 627 | 1 0,7 | (1) | 05 0,5 10C3 71 0.8 1 22 32 370 2 3 Beuxanns nepes 20 JICORNOPAAKYBAHHSA
g 627 [ 2 L8 | () | 1,0 1,0 10C3 61 | 09 | 1 22 24 410 2 3 Beuxanns nepes 20 HE BUSBJICHO
" 627 | 8 0,5 - - - 10C3 46 08 | 2 16 18 230 2 Ji3 Beuxanns nepes 20 -
- 638 | 22 | 03 = - - 10C3 56 0,8 1 21 22 320 2 JI3 Beuxanns nepes 20 =
& 638 | 23 | 1,1 | (I) | 0.5 0,5 10C3 8 | 0,7 | 1 27 36 420 2 3 Beuxanus iepes 20 i
- 638 | 24 | 06 | (1) | 05 | 05 10C3 91 | 06 | 1 28 36 380 2 J13 Beuxauus nepen 20 -
- 641 5 0,9 (1) 0,5 0,5 10C3 71 0,6 1 25 28 320 2 J3 Beuxauns nepes 20 s
i 641 | 15 | 156 | (1) | 10 1.0 10C3 8 | 0,7 | 1 27 32 420 2 J3 Beuxannsa nepes 20 g
- 641 | 16 | 09 | (1) | 05 | 05 10C3 8 | 08 | 1 26 32 460 2 3 Beuxanus nepes 20 -
- 641 | 20 | 04 5 - - 8Tu2C3 40 | 03 | 3 24 | 40 130 2 Ji3 Beuxanns nepes 20 -
. 641 | 22 | 14 [ () | 1,0 1,0 10C3 116 | 04 | 2 25 52 220 2 J3 Beuxanns siepes 20 C
s 642 | 3 3.2 | 1y | 15 1,8 10C3 41 | 0,7 | 1 16 20 200 2 JI3 Beuxanus nepes 20 -
- 642 6 5,5 (1 25 2.3 8C32bn 41 0.7 1 17 18 220 Z J13 Beuxauns nepes 20 =
< 642 | 7 L2 | (1) | 05 0,5 10C3 76 | 0.8 | 1 25 36 430 2 Ji3 Beuxannsa gepes 20 »
: 642 | 3 29 | (D) | 1,5 1,5 6C34bn 41 0,8 [ 1A | 19 18 240 2 J3 Bewxanns nepes 20 -
s 642 | 9 L4 | (1) | 1.0 1.0 10C3 46 | 0,8 | 1 18 20 250 2 13 Beuxanns nepes 20 -
. 642 | 10 | 07 = = 2 8C320c¢ 46 | 04 | 2 15 20 100 2 3 Beuxanns nepes 20 -
. 643 | 1 45 | (1) | 25 2.5 10C3 62 | 06 | 1 20 28 300 2 J3 Beuxanns aepes 20 :
= 643 2 0,2 - - - 10C2+Co 53 0,2 2 16 14 200 2 Ji3 Bewxauus aepen 20 =
. 650 | 1 143 | (1) | 3.0 3.0 10C3 71 0.9 1 24 32 450 2 J3 Bewnxanns nepes 20 "
- 650 | 3 L2 | () | o5 0,5 10C3 61 | 08 | 1A | 24 24 430 2 i3 Beuxanus nepes 20 -
- 650 | 4 L6 | (1) | 05 0.5 10C3 86 | 07 | 1 28 32 440 2 J3 Beuxanns nepen 20 -
. 650 | 7 | 49 | (1) | 25 | 25 10C3 61 | 0,7 [ 1 22 32 310 2 J13 Onenpok ocinmiii 20 -
- 651 1 34 | (D 1,5 1.5 10C3 76 | 0.7 1 25 32 380 2 3 Beuxanns nepes 20 &
- 651 | 3 21 | (1) | 05 0.5 10C3 76 | 06 | 1 26 32 340 2 J3 Beuxanns neper 20 -
- 651 | 4 33 () | 1,0 1.0 10C3 64 | 07 | 1 24 28 360 2 J3 Beuxanus nepes 20 5
- 651 5 5,1 (1) 1.0 1.0 10C3+)13 57 | 05 1 19 20 310 2 n3 Beuxanus aepes 20 o
- 652 | 3 L7 | (1) ] 1,0 1,0 10Bay 52 | 08 [1A | 23 24 310 2 i3 Beuxanus nepen 20 =
- 652 | 4 LI () | 05| 05 7bn3C3 41 | 0,8 | 1 19 20 210 2 J3 Beuxanns siepen 20 )
5 653 | | 0,2 3 - - 5C35bn 71 0.7 [ 1A | 27 36 300 2 J3 Beuxauns nepes 20 .
- 653 | 2 1,6 | (1) | 0,5 0.5 10bn 41 07 | 16| 20 28 180 2 J3 Beuxanus nepes 20 -
- 653 | 5 24 | (1) | 05 0.5 10C3 61 | 06 [1A]| 24 26 310 2 13 Beuxanus nepen 20 .
- 655 1 1l (1) 1.0 1.0 10C3 70 0.8 | 1A 27 36 480 2 JI3 Onenbok ocinniii 20 B
- 655 | 2 23 (n | o053 0.5 10C3 106 | 0.5 2 26 48 240 2 J13 Onensok ociniii 20 -
ﬁ - 655 | 3 32 | () | 15 125 10C3 61" | 0,7 | 1 21 28 280 2 Ji3 Beuxanns nepes 20 | s




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
JleGenipenke | 655 4 3.2 | (1) 15 1.5 10C3 9] 0.5 1 26 40 280 2 J3 I'ybka cocnona 20 3riano marepianis
1-BO 656 | 1 08 | (1) | 05 0.5 10C3 100 | 0,5 | 2 25 40 240 2 3 Beuxanns nepen 20 JCOBNOPAKYRBAHHS
- 656 | 3 1,1 () | 0,5 0,5 10C3+Bn 67 | 0,7 I 22 28 350 2 Ji3 Benxanus nepen 20 HE BHABJICHO
- 656 | 4 14 | (1) | 05 0.5 10C3+bn 91 | 03 | 1 28 48 190 2 73 Beuxanus nepen 20 -
- 656 | 5 0,7 - - - 10C3 52 | 09 | 1A | 21 24 350 2 3 Beunxanus jepes 20 <
- 656 | 7 e | (1) | 05 0,5 10C3 151 | 0,5 | 2 30 52 310 2 I3 Benxanus nepes 20 K
- 656 | 8 Ls | (D) | o5 0.5 8C32Bn 54 | 08 [ 1A | 22 20 310 2 J3 Beuxanus nepes 20 -
- 656 | 9 43 | () | 2,0 2.0 10C3 151 | 0,6 | 2 28 56 360 2 J3 Bewnxanus jiepes 20 2
= 656 | 16 1,4 | (1) 1.0 1.0 10Cs3 121 | 0,6 1 31 52 420 2 J3 Beuxanng nepes 20 d
“ 656 | 29 0,7 - - = 10C3 121 0.5 1 31 48 350 2 J3 Beuxanns nepen 20 -
- 656 | 30 | 04 - - - 10Cs3 55 | 0.8 | 1 21 24 340 2 3 Beuxanus jiepes 20 =
- 656 | 33 | 27 | (D | 1,0 1.0 10Bny 71 0,8 1 26 30 360 2 J3 Beuxanns nepes 20 :
Beboro: X 5 742 2 50,0 50,0 . - = . 2 = . - N = 1220 L
Pazom no JI3 68,7 ra. . < A L - . is = - - 1420 :

AupekTop nicrocny

70 ¢ebpep

2074 poky

M.I1. NonoBeubkuit




